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On 1ts December 31, 1997 balance sheet, Nilo Corp. reported bonds payable

of38, 000 000 and related unamortized bond issue costs of $430,000. The
bonds had been issued at par. On January 2, 1998, Nilo retired $4,000,000 of
the outstandmg bonds at par plus a call premium of $100,000. What amount

should Nilo report in its 1998 income statement as loss on extinguishment of
debt?

Gow Constructor Inc. has consnstently used the percentage-of-completion
method of _fecognizing income. In 1998, Gow started work on an
$18, 000 000 construction contract. that - was completed in 1999. The
following information was taken from Gow’s 1998 accounting records:

Progress brllmgs $6,600,000
Costs incurred 5,400,000
Collections | 4,200,000
Esttmated costs to complete - 10, 800,000

What amount of gross proﬁt should Gow have recogmzed in 1998 on thlS
contract? o

John Tracey, M D , Keeps his accountmg records on the cash basis. During
1998, Dr. Tracey collected $150.000 in fees from his patients. At December
31, 1997, Dr. Tracey had accounts receivable of $20 ,000. At December 31,

1998, Dr. Tracey had accounts recetvable of $35,000 and unearned fees of

35, 000, On the accrual basis, how much was Dr. Tracey’s patient service
revenue for 19982

ke

Orr Co.’ prepared an agmg of its accounts receivable at December 31, 1998
and deterrmned that the net realizable value of the receivables was $250,000.
Addlttonal mformatxon is available as follows:

Allowancc for uncollcctrble accounts at 1/1/98-—credit balance $ 28,000
Accounts wntten off as uncollectible durrng 1998 23,000
Accounts receivable at 12/3 1/98 270,000
Uncollecttble accounts recovery during 1998 : 5,000

What amount of uncollecttble accounts expenses should be recorded in Orr’s

- accounts for the year ended December 31,19987

On December 31, 1998, Vey Co. traded equipment with an original cost of
$100,000 and. accumulated depreciation of $40,000 for similar productive
equipment- with a fair value of $60,000. In addition, Vey received $30,000
cash in connection with this exchange. What should be Vey’s carrying amount
for the equipment received at December 31, 19987

Shorter Company sells its products on an installment sales basis. Data for
1998 and 1999 follow:

N (H B AR s )
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Installment sales............ ... $200,000 $240,000
Cost of goods sold on installment sales 140,000 180,000
Other expenses................ . U ' 30,000 - '40;000"‘
Cash collected from 1998 sales,........ . ~ 120,000 - 160,000 .+
Cash collected from 1999 sales......... ' - 160,000 U

Compute the net income for 1999 assuming use of the installment Method of
recognizing gross margin.

7. Able company, which uses the retail LIFO method to determine inventory e
- cost, has provided the following information for 1998; ' :
Cost Retail o 1.
Inventory, 1/1/98 $ 68,400 $120,000
Net purchases 378,000 582,000
Net markups 48,000
Net markdowns 30,000
Net sales : 540,000

Asshming stable prices (no change in the price index during 1993). what is
the cost of Able’s inventory at December 31, 19987

8. Using above infonnation,‘ assuming that the price index v‘vég 1125 at
December 31, 1998 and 100 at J_anp_arﬁl I, 1998, what is the cost of able’s
inventory at December 31, 1998 under the Dollar-Value-LIFO retail mgthod?

9.

The Lanark Company purchased a tooling machine on 'Januéi'y 3:,. 1991 for

$420,000. The machine was being depreciated on the straight-line method
over an estimated useful life of 10 years, with no salvage‘ value. At the
beginning of 1998 the company paid $105,000 to overhaul the machine, As a
result of this improvement, the company estimated that the useful life of the
machine would be extended an additional 5 years (15 years total). What

should be the depreciation expense recorded for the machine in 19987

10. Kresley Co. has provided the following 1998 current account balances for the
preparation of the annual statement of cash flows: S A
* Accounts receivable _ _ -3 10,000(increase) - .

+ Allowance for Uncollectible accounts 6,000(decrease)

* Prepaid rent expense 2,000(increase)

* Accounts payable - 1,000(decrease) .

* Depreciation expense : 2,000 ..
+ Bad debt 5,000 e
" Amortization of bond premium o 1,000, ... .

Kresley’s 1998 net income is $20,000. Com

pute the amount that shows the net
cash flow from operating activities.
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Z >+ On January 1, 1996, Inea Fishery sold $150,000 (face value) of bonds. The bonds i
are dated January 1, 1996 and will mature on January 1, 2001. Interest is paid |
annually on December 31. The bonds are callable after December 31, 1998 at
101, Issue. costs related to these bonds amounted to $3,000, and these costs are
being amortized by the straight-line method, T

he following amortization
schedule was prepared by the accountant for

the first 2 years of the life of the 1

!
bonds:. - : ' |
: E
Date = Cash “Interest Amortization Carrying Value
I A ' of Bonds
1/1/96 - - - $139,186
12/31/96 $15,000 ? $1,702 ?
12/31/97 ? ? ?

Instructions H(18%) i

On the basis of the information above, answer the following questions (round your

answers to the nearest dollar or percent):

(a)What is'the nominal or stated rate of interest for this bond issue?

(b)What is'the effective of market rate of interest for this bond issue?

(c)Present the journal entry to record the sale of the bond issue, inc
issue costs. + ¢ -

(d)Present the appropriate entry(ies) at December 31, 1998,

(e)Present the disclosure of this bond issue on the December 3 1, 1998, balance
sheet. Propér balance sheet subheadings must be indicated

(HOn June 30, 1999, $100,000 of the bond issue was redeemed at the callkprice.
Present the journal entry for this redemption. Amortization of the discount is
recorded orily at the end of the year.
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I~ The board of directors of Western Fixtures Company is considering several
strategies for the upcoming annual dividend. Alice Hemming, the treasurer of the
company, has been asked to explain to the board of directors
disadvantages of each strategy. The four strategies are :

(a)Declare the normal cash dividend of $1.00 per share. o
(b)Declare a 2% stock dividend on the outstanding commbnlst’ock.'. N

the advantages and

(c)Declare a 40% stock dividend on the outstanding common Qtock.

(d)Split the stock, 2 for 1, and declare a $.50 per share dividend on the new
outstanding shares. e »
Western had 100,000 shares of $2.50 par value common stock outstanding. The

market price of the common stock is $50 per share.

Instructions : (10%) .

(1)Provide the information needed by the board of directors. Be sure to identify
the amount to be charged to retained earnings for each method.

(2) The chairman of the board discovers that the amount charged to retained
earnings is the same under each alternative ad therefore concludes that the

methods are identical in terms of economic effect on the firm. Respond to this
observation,
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